Faculty of Engineering Electronic Circuits (a) (E1203)

Benha university Final-Term Exam (Corrective)
Electrical Eng.Dept. Date: 3/1/2016
Dr Hossam Labib Zayed Time: 3 Hours

Answer the following questions:

Q1: (a) Assuming that the diodes in the circuit of Fig.(1) are ideal, find the values of the
labeled voltage, V, and current, 1.
(b) In fig.(2), the firs transistor Q, has a current gain of 100 and the second transistor

Q; has a current gain of 50, what is the base current in the first transistor?

Q2: (a) Determine and sketch the output waveform for the network of Fig. (3).
(b) What is the output voltage in Fig.(4). Let B of the two transistors are very high.

Q3: The 6.8V zener diode in the circuit of Fig.(5) is specified to have V,= 6.8V at

I,=5mA, r,=20Q, and I,= 0.2 mA. The supply voltage V" is nominally 10V but can
vary by 1 V.

(a) Find V, with no load and with V" at its nominal value.

(b) Find the change in V, resulting from the +1 V change in V".

(c) Find the change in V, when R; =2 kQ.

(d) What is the minimum value of R; for which the diode still operates in the
breakdown region?

Q4: In the circuit of Fig.(6), vy, is a small sine-wave signal with zero average value. For
VCCZISV, R1: R2=100KQ, RE=200 Q, RC=RL=20 KQ, and B = 100. Find USiI‘lg
hybrid-n model the values of R;,, R,, the voltage gain (v, /vy;,), and the current gain

(i./i).

Q5: For the universal BJT amplifier configuration as shown in fig. (7), let Rz = 100 KQ,
Rc =Rg =10 KQ, Ve = Vgg = 10V, B =100, and Ic = 0.838 mA. If the amplifier is
connected in the common base configuration draw the complete circuit of the
amplifier and then find using T-model the values of Ri, Ry, A,, and A; for
RS = RL =10 KQ
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Q) (a) Find the values of I and V in the circuits shown in Fig. (1).
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QS: For the universal BJT amplifier configuration as shown in
fig. (7), let Rg = 100 KQ, Rc = Rg =10 KQ, Ve = Vg = G b—o Z
10V, B =100, and Ic = 0.838 mA. If the amplifier is X ° 1! |

connected in the common base configuration draw the Ry § C}i_-o Y
complete circuit of the amplifier and then find using T- ____1___ Re
model the values of R;, R, A,, and A, for Rg =Ry l
=10 KQ.
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For Ic= 0.838 mA then
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